

The Remainder Representation of Hermite-Birkhoff Interpolation*

Yang Yiqun (杨义群)

(Zhejiang Agricultural University)

Wang Xinghua^[1] has given out a useful tool that represent the k th ($k=0, \dots, n$) derivatives $R_n^{(k)}(x)$ of the remainder $R_n(x) = f(x) - H_n(x)$ of the Lagrange-Hermite interpolation polynomial $H_n(x)$ of degree n for a function $f(x)$ by the divided differences of order $n+1$ of $f(x)$. This tool has been applied to the estimation of remainders of interpolation splines^[9-11] much more conveniently and easily than that one of Green functions or Peano kernels^[6,7].

In practice, we often have still to study remainders of a lot of Hermite-Birkhoff interpolation polynomials^[2-5]. In this note, our purpose is to extend the remainder formulae of [1] to that Hermite-Birkhoff interpolation polynomials. We shall also represent the k th ($k=0, \dots, n$) derivatives $R_n^{(k)}(x)$ of the remainder $R_n(x) = f(x) - H_n(x)$ of the Hermite-Birkhoff interpolation polynomial $H_n(x)$ of degree n for a function $f(x)$ by the divided differences of order $n+1$ of $f(x)$. This tool has also been applied to the estimation of approximation degrees of interpolation splines^[9-11].

Let $H_n(x)$ be Hermite-Birkhoff interpolation polynomial of degree n for a function $f(x)$, $0 \leq p-1 \leq n$, $a_0 \leq a_1 \leq \dots \leq a_{p-1}$ and

$$H_n^{(a_i)}(a_i) = f^{(a_i)}(a_i) \quad (i=0, \dots, n) \quad (1)$$

where

$$a_i = \max\{j; a_i = a_{i-j}\} \quad (i=0, \dots, p-1)$$

and

$$0 \leq a_i \leq n \quad (i=p, \dots, n).$$

Specifically, if $p=n+1$, then $H_n(x)$ is just a Lagrange-Hermite interpolation polynomial.

Write $R_n(x) = f(x) - H_n(x)$. We have known the following theorems A and B.

Theorem A^[1] If $0 \leq m \leq k \leq p-1=n$, then

$$R_n^{(k)}(x) = k! \sum_{v=0}^{m-1} f[x, \dots, x, a_0, \dots, a_n] \frac{\omega_{n+1}^{(k-v)}(x)}{(k-v)!}$$

*Received June 29, 1983.

$$+ k! \sum_{v=0}^k f[x, \dots, x, \overbrace{a_0, \dots, a_{n-v+m}}^{v+1}] \frac{\omega_{n-v+m}^{(k-v)}(x)}{(k-v)!} (x - a_{n-v+m})$$

whenever the above divided differences exist, where

$$\omega_i(x) = \prod_{j=0}^i (x - a_j) \quad (i=0, \dots, n+1).$$

Theorem B (see [5] or [8]) If and only if

$$\det[a_i^{(v-a_i)} / (v-a_i)!]_{i,v=0}^n \neq 0,$$

the above Hermite-Birkhoff interpolation polynomial $H_n(x)$ is existent and unique.

From theorem B we may obtain the following lemma.

Lemma If and only if $\Delta \neq 0$, the above Hermite-Birkhoff interpolation polynomial $H_n(x)$ is existent and unique, where*

$$\Delta = \frac{\partial^{a_p}}{\partial a_p^{a_p}} \frac{\partial^{a_{p+1}}}{\partial a_{p+1}^{a_{p+1}}} \cdots \frac{\partial^{a_n}}{\partial a_n^{a_n}} \prod_{i=p}^n \omega_i(a_i).$$

For $x \in \{a_0, \dots, a_n\}$, let

$$I(y) = R_n(y) \omega_p(x) - \omega_p(y) \sum_{v=0}^{n-p} C_v(x) (y-x)^v / v!, \quad (2)$$

where

$$C_v(x) = \omega_p^{-v}(x) \begin{vmatrix} \omega_p(x) & 0 & 0 & \cdots & 0 & R_n(x) \\ \omega_p'(x) & \omega_p(x) & 0 & \cdots & 0 & R_n'(x) \\ \omega_p''(x) & 2\omega_p'(x) & \omega_p(x) & \cdots & 0 & R_n''(x) \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ \omega_p^{(v-1)}(x) \binom{v-1}{1} \omega_p^{(v-2)}(x) \binom{v-1}{2} \omega_p^{(v-3)}(x) \cdots \omega_p(x) & R_n^{(v-1)}(x) \\ \omega_p^{(v)}(x) \binom{v}{1} \omega_p^{(v-1)}(x) \binom{v}{2} \omega_p^{(v-2)}(x) \cdots \binom{v}{v-1} \omega_p'(x) & R_n^{(v)}(x) \end{vmatrix} \quad (3)$$

($v=0, \dots, n-p$) satisfy

$$I^{(i)}(x) = R_n^{(i)}(x) \omega_p(x) - \sum_{v=0}^i \binom{i}{v} \omega_p^{(i-v)}(x) C_v(x) = 0 \quad (i=0, \dots, n-p).$$

Hence $a_0, \dots, a_{p-1}, x, \dots, x$ are $n+1$ zeros of $I(y)$. Writing

$$b_i = \begin{cases} a_i & (i=0, \dots, p-1) \\ x & (i=p, p+1, \dots) \end{cases}$$

and

$$\theta_i(y) = \prod_{j=0}^i (y - b_j) \quad (i=0, 1, \dots),$$

from theorem A, for $k \in \{0, \dots, n\}$ we have

$$I^{(k)}(y) = k! \omega_p(x) \sum_{v=0}^k f[y, \dots, y, \overbrace{b_0, \dots, b_{n-v}}^{v+1}] \frac{\theta_{n-v}^{(k-v)}(y)}{(k-v)!} (y - b_{n-v}). \quad (4)$$

Combining Eqs. (1), (2) and (4), we obtain

$$-I^{(a_i)}(a_i) = \sum_{v=0}^{n-p} \frac{C_v(x)}{v!} \frac{\partial^{a_i}}{\partial a_i^{a_i}} [\omega_p(a_i) (a_i - x)^v] \quad (i=p, \dots, n), \quad (5)$$

where

$$I^{(a_i)}(a_i) = a_i! \omega_p(x) \sum_{v=0}^{a_i} f[a_i, \dots, a_i, \overbrace{b_0, \dots, b_{n-v}}^{v+1}] \frac{\theta_{n-v}^{(a_i-v)}(a_i)}{(a_i-v)!} (a_i - b_{n-v}) \quad (i=p, \dots, n). \quad (6)$$

*) In this note the partial derivative is one in which $a_p, \dots, a_n$ are independent variables.

If $C_\nu(x)/\nu!$ ($\nu=0, \dots, n-p$) in Eqs. (5) are regarded as unknown numbers, then the coefficient determinant of Eqs. (5) is

$$\begin{aligned} & \det \left\{ \frac{\partial^{a_i}}{\partial a_i^{a_i}} [\omega_p(a_i) (a_i - x)^{\nu-p}] \right\}_{i, \nu=p}^n \\ &= \frac{\partial^{a_p}}{\partial a_p^{a_p}} \frac{\partial^{a_{p+1}}}{\partial a_{p+1}^{a_{p+1}}} \cdots \frac{\partial^{a_n}}{\partial a_n^{a_n}} \det \{ \omega_p(a_i) (a_i - x)^{\nu-p} \}_{i, \nu=p}^n, \end{aligned} \quad (7)$$

where

$$\begin{aligned} \det \{ \omega_p(a_i) (a_i - x)^{\nu-p} \}_{i, \nu=p}^n &= \det \{ \omega_p(a_i) a_i^{\nu-p} \}_{i, \nu=p}^n \\ &= \det \{ a_i^{\nu-p} \}_{i, \nu=p}^n \prod_{i=p}^n \omega_p(a_i) = \prod_{i=p}^n \omega_i(a_i). \end{aligned}$$

Therefore, the coefficient determinant of Eqs. (5) is just Δ in the above lemma. Hence we have

$$C_\nu(x) = \nu! A_\nu / \Delta \quad (\nu=0, \dots, n-p), \quad (8)$$

where A_ν is the determinant whose $(\nu+1)$ th column is

$$[-I^{(a_p)}(a_p), -I^{(a_{p+1})}(a_{p+1}), \dots, -I^{(a_n)}(a_n)]^T$$

and whose others are the same as the determinant

$$\det \{ \omega_p(a_i) (a_i - x)^{\nu-p} \}_{i, \nu=p}^n.$$

In virtue of Eqs.(3) and (8), we have the recursive formulae $R_n(x) = C_0(x)$ and

$$\begin{aligned} R_n^{(k)}(x) &= C_k(x) - \omega_p^{(k)}(x) \\ &= \begin{vmatrix} \omega_p(x) & 0 & 0 & \cdots & 0 & R_n(x) \\ \omega_p'(x) & \omega_p(x) & 0 & \cdots & 0 & R_n'(x) \\ \omega_p''(x) & 2\omega_p'(x) & \omega_p(x) & \cdots & 0 & R_n''(x) \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ \omega_p^{(k-1)}(x) & \binom{k-1}{1} \omega_p^{(k-2)}(x) & \binom{k-1}{k-2} \omega_p^{(k-3)}(x) & \cdots & \omega_p(x) & R_n^{(k-1)}(x) \\ \omega_p^{(p)}(x) & \binom{k}{1} \omega_p^{(k-1)}(x) & \binom{k}{2} \omega_p^{(k-2)}(x) & \cdots & \binom{k}{k-1} \omega_p'(x) & 0 \end{vmatrix} \end{aligned} \quad (k=0, \dots, n-p). \quad (9)$$

For $k \in \{n-p+1, \dots, n\}$, noticing

$$R_n[\overbrace{x, \dots, x}^{\nu+1}, a_0, \dots, a_{p-1}] = \frac{d^\nu}{dx^\nu} R_n[x, a_0, \dots, a_{p-1}] / \nu! = \frac{d^\nu}{dx^\nu} \left[\frac{R_n(x)}{\omega_p(x)} \right] / \nu!$$

and using the above theorem A ($m=n-p+1$), we may obtain

$$\begin{aligned} R_n^{(k)}(x) &= k! \sum_{\nu=0}^{n-p} R_n[\overbrace{x, \dots, x}^{\nu+1}, a_0, \dots, a_{p-1}] \frac{\omega_p^{(k-\nu)}(x)}{(k-\nu)!} \\ &+ k! \sum_{\nu=n-p+1}^k f[\overbrace{x, \dots, x}^{\nu+1}, a_0, \dots, a_{n-\nu}] \frac{\omega_{n-\nu}^{(k-\nu)}(x)}{(k-\nu)!} (x - a_{n-\nu}) \\ &= k! \sum_{\nu=0}^{n-p} \frac{d^\nu}{dx^\nu} \left[\frac{R_n(x)}{\omega_p(x)} \right] \cdot \frac{\omega_p^{(k-\nu)}(x)}{(k-\nu)! \nu!} \\ &+ k! \sum_{\nu=n-p+1}^k f[\overbrace{x, \dots, x}^{\nu+1}, a_0, \dots, a_{n-\nu}] \frac{\omega_{n-\nu}^{(k-\nu)}(x)}{(k-\nu)!} (x - a_{n-\nu}) \end{aligned} \quad (k=n-p+1, \dots, n). \quad (10)$$

Here $R_n^{(k)}(x)$ and $C_\nu(x)$ in Eqs.(8)~(10) have been represented by divided differences of order $n+1$ of $f(x)$ because $I^{(a_i)}(a_i)$ ($i=p, \dots, n$) in Eq. (6) have been done. Summing up the above, we have the following theorem.

Theorem If $0 \leq k \leq n$ and $\Delta \neq 0$, then the k th ($k=0, \dots, n$) derivatives $R_n^{(k)}(x)$ of the Hermite-Birkhoff interpolation remainder of $f(x)$ may be represented in Eqs. (9) and (10) by divided differences of order $n+1$ of $f(x)$ whenever these divided differences and their derivatives exist.

Finally, if $p=n$, then $\Delta \neq 0$ becomes $\omega_n^{(r)}(a_n) \neq 0$ and the Eqs. (9) and (10) become the simpler forms^[9]

$$R_n^{(k)}(x) = k! \sum_{\nu=0}^k f[x, \dots, x, \overbrace{a_0, \dots, a_{n-\nu}}^{\nu+1}] \frac{\omega_{n-\nu}^{(k-\nu)}(x)}{(k-\nu)!} (x - a_{n-\nu}) \\ - r! \omega_n^{(k)}(x) \sum_{\nu=1}^r f[a_n, \dots, a_n, \overbrace{a_0, \dots, a_{n-\nu}}^{\nu+1}] \frac{\omega_{n-\nu}^{(r-\nu)}(a_n) (a_n - a_{n-\nu})}{(r-\nu)! \omega_n^{(r)}(a_n)} \\ (k=0, \dots, n) \quad (11)$$

whenever these divided differences exist, where $r = a_n$.

References

- [1] 王兴华, 科学通报, 24(1979), 19:869-872.
- [2] Birkhoff, G. D., *Trans. Amer. Math. Soc.*, 7 (1906), 107-136.
- [3] Lorentz, G. G., *Approximation Theory and Functional Analysis* North-Holland Publishing Company, 1979, 187-236.
- [4] 郭竹瑞, 计算数学, 2(1980), 3:282-287.
- [5] 潘承洞, 数学的实践与认识, 1976, 1:63-78.
- [6] Birkhoff, G. and Priver, A., *J. Math. Phys.*, 46(1967), 440-447.
- [7] Наймарк, М. А., 线性微分算子, 科学出版社, 1964.
- [8] Prenter, P. M., 样条函数变分方法, 上海科技出版社, 1980.
- [9] 杨义群, 计算数学, 4(1982), 3:318-322.
- [10] 杨义群, 数学研究与评论, 1982, 4:57-64.
- [11] 王兴华、杨义群, 数学进展, 13(1984), 2:153-160.

Hermite-Birkhoff 插值的余项表示

杨 义 群

(浙江农业大学)

提 要

本文将王兴华在[1]中给出的 Lagrange-Hermite 插值的余项表示推广到了 Hermite-Birkhoff 插值的情形^[2-5]。这些工具已有效地用来估计多种插值样条的逼近度^[9-11]。